- e T \\_. t ﬁ\}/i\w\\ S \\|“\.\ . o T ===
~ eI (Ce =)

2 Gy _p\l_wﬁ

=== 2 - ) T

2 /,.,u.-H.‘/ . ﬂ\rﬁﬁ - j Tk L O 3 oy

3 =
AT
\.\. .w/l// m/l\“&“\\\u .

N
7 ﬁ\llm.\-\ll!lllrlfw fJM/ ‘I
%wmmwmy, y.
..\\\ , = 5
(«

Selhis

& [ e 3 _ R =
! % s : e S N

3 : i ez [ i 2 2

w» mu - ~ £ 2 = 4y &\\ .\@\..J g S

S E I___ o o = W oAy )
s R ;.[\\|1\\\\ W\h\\ B al R g _H \Hu\ h

- - P __, [} v < L a k/\\ﬂrl\l ey
£ - A L AR Q= A = = =

” 4 i o oI e A —

HES

.

1

HEKRERTIE
BIUT TERT HhA

1:5000 | Eﬁ§%|

E
e TE:

5 BT

I%4
&




1260. 000

X:

T B R
14-20-39

[N] TP 7 ]
(LAl 3229

KBM.1 H =42.158

) I S N
2-01-29

1300. 000

-

N\ mRE RLRES

R ———————

—Ai(H 1.20mxB 2.30m

1350. 000

X

#3004 % 2

L)
e T2

~an

EEHT

IRFITAKBET (H 1. 20mx B 2. 30m) L=4. 00m

angl 4l e

Jya—LIH1.20mxB 2 20m) L=190. 00m (5 & BFTLAEFEHET L=28. 65m)

HTEMERT A

] — —
S o]

(No. 0~No. 4+10. 65) L=90. 65m

1250. 000

X:

1300. 000

X=

1350. 000

X:

“a1/16

[Pl P9 ]
Y
AR
Frt 3 %

JRTER =

15010

a9

M1.97

[ipWol___ 1P70 ]
(A 8orar ]

[fPNO] P11 ]
[L_A] 0-23-21

XALDRENELY 4 — 28T

1400. 000

42.37

0 A
[

Y=700.000 |

Y=800. 000

I%4

HEHKBRERFIS

%

BULUMTERMA

B

R E

1:250 [am%9

2

E X K

/



AR

K
|

600 2300 600

K

B YE AR B X

SRR

1 000 .
0
" 60 60
Co |
|
| i = : l‘ -
/ O ) ,
=S 1. L=
| = | — | -]
Y — / _;'
| [
\ !
0.106
I
Eg
it E
t 4
Y
2 A
(I
IE4 HEHKBEHRIS
5 B BT TFER # A
Hm4 EENER
R E| 1:50 |m@®sg s
S Yk g W W




EX T
SHITEEREIT (K#) NO. 0~NO.4+10.65 L=90.65m FRE 3 OFEEMIT (AH#R) NO.4+10.65~EP (No. 13)  L=169. 35m
KBM. 2
55. 00 H=43. 421
50. 00
45. 00
] KBM. 3
H=43.077
KBM. 1 - _
H=42. 158 ] 0 \ \//‘/
1 ]
* I
0 ——
_| N
] S
40. 00
35. 00
o
=] —]
1:500 |
DI.=30. 00
o o
=L i Vs © L=260. 00m 8
K ) fid Q ) z
%
g = e 8 = & = &% & RS 5 88 5 8 8 2 3 8% e 8 SIE ] 8
9] o 5] S o S} =) o oo oS So o oo co SIS o o o oo cSo S15) c o o -
— — . : T T T I T = — T T T . = T T — : T
o w0 =] N © o w0 ooy © NN ~ —aN —aN N ~ o~ © Nk ooy oo o o ~ o
- - 2 8 g s F 5 8 & 8 = oo >3 83 = == 8 89 s g8 5 e
AT I K IS i g g g g g g g g ¢ gg g g9 g¢ 55 3 5 5 55 55 55 3% 3 5
o ~ =3 ~ ©o =3 =3 o w0 < wn ) — © w0 o~
I . “ © © * i et < « e N ~ ~ © © N
BLDLK 5 I g § g g ¢ g ¢ s § = F 5 5 5 5 g
o =) =3 — o @ = ~o [5e] —00 < <0 —_— ~w ~ — (=3 ~r~ ~w0 ~oN =] (=3 =3
, . & 5 s F 8 8 == 8 o8 & 88 . oR o < 2 B o 5= o 0 R R 3 =
Hoo MW g € g g g g = S S 5% 3 sz Ml & 35 55 3 S S 5 I5 M g9 33 g g
— — . . T T . - T = — T . T : - T T — : T
8 8 2 8 & 8 8 28 S SR 2 58 x8 82 S S = 8 S & 88 8 S
BB s 88 B s = 8 8 s> & 88 = s = s @ SE s = = 8 =
p=) - - (=] w w (=] ~ 3 w0 20 =< o0 =3 CDS el=} [=]=] o o =< O D o0 © O o =3
— ~N o~ S no © 00 (=3 (=1 - << n 1= © = D - ™ T 'e] <
e =N 53 e e © = &3 = {3 & g
=% s ~ R o= = ey ~ = 5o =% = < = o =% = ) = X
W 5 fife 8 B3 Rk R N N 5] 8= 3 25 > 88 38 ] B & =Y B8R 8% R 83 8 <
- i fé s w6 @ < ~ o w <o « ] = ~e @ go s o o« = o s S s =
iy i 5 o S ag o S o ag o o < ag o N = ] = 5T o o R = e
H M =4 s X2 = e = = = e 5] 2 = Sa o e o Sa ag ag o g o =]
T T = —_ = —_ —_= —_= - = —_ 2
— — : : : . : o : = — , e , T — = T — r :
i @ 1A=2-54-55 1A=0-23-21 1A=1-32700 1A=1-06-19
R 1P, ] [ ip. X P, ip. ¢ P 3 P9 F.10 P.13 P15 TP. TP. 17
1A=2-01-29  [A=2-44-08 1A=6-07-24 1A=0-35-05  IA=0-43-16 1A=0-42-13 1A=9-48-49 14653 10 1A=8-01-41 1A=7-44-38 1A=6-57-59 1646840 1a3-15 01

HEBKBERISE

BILT T ER # KA

MEETE (AHR)

CEEEEE

EX LK

g W W




THLEEMIT (S#R) NO.O~EP (No.3+12.00) L=72.00 m

55. 00 F
50. 00
] &
LN
] ) >4
e ®
%S *%
1 *5(@
- T5012
45. 00 H=45. 210
KBM. 1 —
H=42. 158 I
40. 00
35. 00
o
=] —]
1:500
DI.=30. 00
S K B ) i 8) 7 g |.=52.00m 2
: > ) \Z > "
AT ] K S ) g L.\,JQW S 1. 00% g
8 S S 3
% s s s s
3 28 g I
LjJ - o o o co
3 8 2 RE & 8 3¢ ]
R 7K g g g dd ¢ g g4 g
LNO [=3 =<3 D = N 0 D =
. i LTS S S S8 & < [rogve ~
R S S o o N oo N aia =
- g < A < < < < < < < <
) — © ~
P B e @ g &3z ¢
= - o= g g 5¢ ¥ o 58 s
s gk8 g 8 88 g &g k=8 g
OB B S-c « > R N s o
g 3 o
il P o= R VM @ r~o B K
g&+ &g :_L :_Lg t_L t_L &g i IE4 HEHKBERIS
1P.2 1P.3
m{ ﬁé}?( 1P S Vs 1P.4 IP.5 P.6 1P.7 i% Fﬁ % u-l ﬁi -F ]I B]— tﬁ’- m
1A=47-24-21 1A=7-20-14 [A=18-29-07 1A=20-31-16 1A=22-04-07

X m 4 MR (Z#R)

R E| Bx [aa%q

EXEE: ®& W W




NO. O (NO. 0+3. 40)

6H=40. 32
FH=40. 32
NO. 0+0. 30
A WA | mE
600 2 800 A 18 | 2.7
K 730, 1 340 730| ¢ FES ST
! | !»How #RL 8 | 0.1
| 1670 Im:Az 85
e | 790 R - PIEEmEE| TH | 0.1
e \ — I H BEAEEE| T8
© Q ‘1 - ! | 4 / 8
2| ] waleo 2 NO. 0+3. 40 NO. 0+3. 40
I\ tavd - /] @ [ R R R
S L FizE] EB [ 6.1 FizEz] £ [ 55
| 23 EZ) 23 ES)
i ERL E® | 0.1 HERL 8 [ 1.5
R B EL=T90 Pl EEMAE] T8 | 0.3 Pl EEMLE| T8 | 0.1
BErZmiE| 5 BIFEEE| T8
DL=35. 00
NO. 0+15. 28
GH=40. 56
FH=40. 40
K K
| ! R=10.000
i | TH=43. 936
Fgg?g 600 2800 600 |
| 00 1800 50 i
1 NO. 0+15. 28
| i TR g | S
I HEAI ES 3.6
| [EL T8 [ 1.1
ERL % [ 06
G ZEmEE| % | 1.6
B EELL 70
DL.=35. 00
TP. 2 (NO. 1)
GH=40. 71
FH=40. 42
K « 44.590
| NO. 0+18. 00 (NO. 1)
i : A A | B
, | | T £ [ 3.3
: : : FZ3 W [ 06
ERL W [ 07
QL@ E| £H | 1.3
WEEmE| £H | 0.5
DL=35. 00

DIL=35. 00

L=3.
TH=42. 790

L= 3.000
TH=42.710

NO. 2
GH=40. 73
FH=40. 52
45.713
K K
koo 2300 600l
! | NO. 2
| ' | A | e | B ]
i | | FEE]] T8 [ 2.9 |
! [EES Ex 0.3
EEL % [ 09

UtEmatt] £8 [ 0.6

FES a2

NO. 3 (NO. 2+18. 00 - NO. 3+2. 00)

GH=40. 86
FH=40. 62
45863 NO. 2+18. 00
K %] A | B
K | TEA] % [ 2.9
koo 2300 600 EES X% [ 0.3
ERL % [ 0.9
Pt Amt| T8 | 0.8
ELAEEL | B
g
NO. 2+18. 00 (NO. 3+2. 00) NO. 3+2. 00
[ /A | wma | & A a | B
TEAT +£# [ 3.0 TEAI T8 2.7
EZ3 % [ 0.2 23 % [ 0.4
ERL E# [ 0.8 HEEL % [ 0.9
PtZEmat| £ | 08 Pt EmEE| % | 0.8
mtZEmEmtt| T mt @t | T

NO. 4 (NO. 4+10. 65)

GH=41. 51
FH=40. 72
46. 175
NO. 4 NO. 4+10. 56
A | B EEEETE
FiED] E8 | 42 t8 | 43
BE £% | 08 £# [ 0.5
HRL 8 [ 0.8 +% [ 0.8

UtEmat ] £8 | 1.1 UtEmtE] £8 | 1.1

stEmat ] £8 [ 0.4 EtEmaE] T8

AR

NO. 0 NO. 2
NO. 0+15.28 NO. 3
[P.2(N0. 1) NO.4

I%E4| HEHKBREHRIS

% | BUMTEEH®A

X m 4 B (F#)

R E| 1:100 [mEEs e

EXEE: ®& W W




NO. O (NO. 0+4. 30) (AHRNO. 0+15. 28) NO. 3 (NO. 3+9. 30)

GH=40. 56 (41. 60) GH=42. 59
Fi=40. 60 FH=42. 46
DL=45. 79
As
_______________________________ _ ‘ [I
83 NO. 3(NO. 3+9. 30)
NO. 0+4. 30 g
TE7I R 35 A | daml | B |
| %1 ] *8 | 0.9
| A 5 | 2.5 H il b
EL E=2) BmE % | 1.8
TEL % [ 1.0 EEL % | 03
G E| T8 PSR
WIZEEE| T8 EIAmAE| T8 | 0.8
DLL=35. 00 DLL=35. 00
IP. 2 (NO. 1) EP (NO. 3+10. 30 - NO. 3+12. 85)
GH=42. 00 GH=41. 74
FH=42. 06 FH=42. 58
K" 1 000 -
DLL=45. 80 DL=45.78
411_,—“//
NO. 3+10. 30
[ @n | qm | Bw
A EZARN
o EZ3 W | 1.8
=1
- EEL £ | 0.4
I gtEmitt| £8
e | A% N R0 EIFEHEE] I5
B = NO. 3+10. 30 (NO. 3+12. 85)
B B W [ 1.2 TR R | W
7% EEL % [ 04 Al 8 [ 3.0
GEZEAE| TH EE F5 [ 0.1
BIZEMLE| TH EEC % | 08
PEEEAL| £H
DIL.=35. 00 DI.=35. 00 mtZmat | £8 [ 0.5
NO. 2
GH=42. 29
FH=42. 26
DLL=45. 59 K Ry
=3 4
8 A
| =
el
— 5 |
+8 | 0.8
52
ty I | 2.2
55
i Bl % | 0.3
GLEEEE| T0
WAL TH
DL.=35. 00

- - T - - - Sk

NO. 0 NO. 3
IP.2(NO. 1) EP
NO. 2

I%E4| HEHKBREHRIS

% | BUMTEEH®A

X m 4 B (X#R)

R oE| 1:100 [mEEg 7

EXEE: ®& W W




1 330

150 20

TV a—AT
1, 200 X 2, 200
$=1/20
2 340
1o 2 200 70
(=3
&
S WENLZ IV
-g—L— = a7 U— b
(L, VD) wwew
2 300 0
2 500
kRS (10m¥% b))
&4 T Bl %
TY a—Lh 1, 200 X 2, 200 5.0 ES
S 1:3 0.46  m3
HEig= ) — b 2.5 md|
S = R 2.00 m?
WO M t=0. 15m 25.00 m?2
SAREEIE 25.0  m?
RESALRE 2.000m
B s T
e PR BES A iE T
VAR i T (PRI AR D S=1/10
$=1/20
90
60
400
0_300 5 [slg
|l Utz oo o B
. BRI -
(=3
=10 l I o
2| J e 2 ov
af 1:3
= It il b g
RC-40 2
2
00300 |0
500

PEAREE T

e NSV
A

T a—AT
1,200 X 2, 300
S=1/20
2 440
10 2 300 1q
S
gl 2
S J
== =
- L YN
2 (AL 99,
0l 2 400
2 600
Pk (10m¥% 1)
7Y a—h 1, 200 X 2, 300 5.0 A&
e B 1:3 0.48 m3
Higar s ) —1 2.60 m3
LR o L 2.00 m?2
oW oM t=0. 15m 26.00 m?2
SR 26. 0 m2
AR 2.000m
iz
S=1/30

Wars)—Fk
18-8-25

450

LO@2

=600

1500

iz 27 ) — MR (1495 X300 X 50mm)

i 7 ) — MUK (P 100 X 1500mm)

M

7)) a—AT
1, 000 X 1, 000
S=1/20
1160
80 1000 80
g &
s g  BEMEN
S —= =t M=y —h
B 09 ALA v
100 1067 100
1267
HEE (10m*% 9 )
FRETIN 1,000 % 1,000 5.0 K
RN Z IV 1:3 0.21 m3
a7y —t 1L.27  md
Mo LR 2,00 m?2
WM t=0. 15m 12.67 m?2
AR 127 m?2

AR 2.000m

T4

PR Pk oK S A

Y A

f i BT N

[ 1 44

FAE LM (1)

(7Y 2— AT - Ffit#T)

R

X 7=

FH A

EEEE I
@B W




7V a—AT EH fF

F e s
$=1:200
AR AT
7Y 2—AT (H)1200X (B) 2300 1=40. 00m -
\ 7Y 2—AT (H)1200X (B)2200 L=28. 65m PRS0 i
71
(REHTAKE T (H) 1. 20mX (B)2.30m) L=4. 00m) JJ“AI(H)lzo
, 0X (B)2200 |14, 35
ZY - 35m
T
5 L=4000 -
S w— AT, (1)1200 (B)2300 L=40000 K AN e
o i
1249 124 _ 1 1666/ 1480
- 1089 5@2003=10015 202003 1230 5@2003=10015  1230| [1665 702003=1402
802003=16024 2 = | =4006
< o™ f
q == =
0 15 1718 20 24 25 281291 30 351
e e e e e e e Y e
$o . $ 177 ¢ ° 117117
= = i T S o o
e - 17y 5236 K # S e I © e N e
i Y J ! < . S ol ? =2
50X 1540 77 18 52 “ _ o = Z = S = > ©
(M9 & 3003 N) = - n o g

fD—5k% (3%)
WRES | KK WO X AL ER S

No. 1

X 40.42 1450 X 1270 | ¥3480m F i
T No.2
8 :"\
3 = No. 66 40.01 6200 &L
iiay
Vi 4 I 3 ~ . e fae - i
VS el | w9 | em | Kb PO ~#~ AR AN T
115 . -
Vi 4 465 5 4 S g
No. 100 11.32 165 250 ®L = , § BT il R RN MY
, - 7
y i3 7 .
No. 104 11.36 440 H400 X 1550 L s ) FAVRET S NR RN )
KBS TR S Z MR TH 2 & N X4 [ (ny1200% (B)2300
Q’ (H)1200Xx (B)2200
~N
RO 1izoo [mamd o
5 B4 oo




1370

150 20

LIRS T LIE K T
(F7J7) H2. 30m + (Z2/5%)H1. 20m X B2.80m (47 /7)H2. 30m~H1. 20m - (Z£/5) H1. 20m X B2.80m
S=1/20 $=1/20
3 044 3 044
124 2 800 120) 124 2 800 120
730 1 340 730 730 1 340 730
170 4@250=1 000 170 — 170, 48250=1 000 170
(=3
8 o
o~ @ IS4
| | RN
o
8| 2
~N o
8 S - S
59 52 N —
- D16e1425/2. 0m L=1 330 ol - D1661475/2. 0m L=1 330
150 - 150
D13@54 L=10 000 D13@574 L=10 000
= FE = 2 ) — b =) EEfi= s Y — b
= e B —
2 [ N WErsL 2 [ N WEL L 2
= — =t M= s Y = %8 < s = L ar s ) = =
ge s A wwmw 8 8 o A wwn 8
900 \ 1340 900 900 1340 900
T T
0 i 3140 ) 0 0 3140 0d
3 340 3 340
HER 10mY HER 10m Y
% ki ] AR W OB OE R # i i = £ ﬁﬁ ) o E ¥ B M OE R # B 1 =
Lk & H2, 300 x 12,000 | % 500 Ligkes 2. Lsgoo’ag,zoo = 500
LK ER H1,200x12,000 | & 5.00 Litg7KE& H1,200x12,000 & 5.00
MRS U—b | 24-8-25 m3 | 1.34x0.19%10.0 = 2.55 ROV — | 24-8-25 m3 | 1.34x0.19%10.0 = 2.55
i D16 Kg | 1.33x14x5x1.56 = 145,24 5 D16 Ke | 1.33x14x5x1.56 = 145.24
A5 D13 Ke | 10.00x5x0. 995 = 49.75 5 D13 Ke | 10.00 x5 x0.995 = 49.75
WELEIL 1:3 m | 0.90x0.02x2x10.0 = 0.36 BELSIL 1:3 m | 0.90x0.02x2x10.0 = 0.36
E@aLHU—b | 18-8-25 m | 3.34x0.10x10.0 = 3.34 oL U— | 18-8-25 m | 3.34x0.10x10.0 = 3.34
o LB m | 0.10x2x10.0 = 2.00 Hpgo LR m | 0.10x2x10.0 = 2.00
*op o# RC-40 t=15cm | m2 | 3.34x10.0 = 33.40 * B M RC-40 t=15cm = m2 | 3.34x10.0 = 33.40
AR m | 3.34x10.0 = 33.4 HAE m | 3.34x10.0 = 33.4
LK T BRI
S=1/50
INAET #EfE T 1R L=0. 30m T 18R L=0. 30m
| 70y Y HI (H=2.30m)L=3. 10m L fiz7KB& T H2.30m - H1. 20mx B2. 80m L=4.00m L fi57K#E T H2. 30m~H1. 20m - H1. 20m x B2. 80m L=6. 00m L f4KERT H1. 20m x B2. 80m L=4. 00m JYa—LIH 1.20mxB 2.30m)L=40. 00m
ERiH®a Y J— T L=3.60m (7 H2.30mx L2. 00m N=24%) 100 CAFE H2.30m~1.20mxL2.00m F5FAEMHE N=34) (A H1.20mx 2. 00m @IEMT N=24)
f (Z£ /% H1.20mx L2. 00m ¥¥3&RH [E N=24)] (Z£ /& H1.20mxL2.00m ¥§5&R44 2 N=34) (£ H1.20mx L2.00m N=24)
g |8 g R R 2 S
o =] — - ~ =~ ~ =]
S| & & & HEXRS & b ] I
gl g gllg — g s g e
2 o 1400 1500 = 2
ERXE
— l____ i ERXIE
2 3 700 p 2
s 2 1 —— %% I —
=~ | ~ 900 500 8
- gl & & &l 8 gl 8
- -7 €50 - - s
FH=40. 33 A FH=40. 41 o
§ § = = =) — L ) (=) —& SHS
S = = = = =
< ) ) S © w
3 400
3 600

100

LIEAK B T
(/245 %) H1. 20m X B2. 80m
S=1/20
3 000
00 2 800 10
500 1800 500
150 6@250=1 500 150 —
o
I 59
13 D13¢13%/2. Om L=1_790
a 120 D137 L=10 000
| = Y — b
S
& | PZE A PR | s
Q= = L aLgEa s ) —h
g e LY
600 1 800 600
0 3 000 0
3200
HEX 10mY
3 3 R P S # ® 1 E
LAZ7KE& H1,200xH2, 000 & 10. 00
EEROL O U— b 24825 3 | 1.80x0.14x10.0 = 2w
i D13 Ke | (1.79x13x5+10.00x7) x0. 995 = 185.42
WELS L 1:3 m3 | 0.60x0.02x2x10.0 = 0.24
HEgavo)—+ 18-8-25 m3 3.20%0.10x10.0 = 3.20
HpEo LR m2 | 0.10x2x10.0 = 2.00
BB M RC-40 t=15cm | m2 | 3.20x10.0 = 32.00
RasER [m2 | 3.20x10.0 = 30
Lf4 HY B B K B B i
8 T L R E T N
AR LRI (2)
X I
I i 4 (LA T)
RO KR ||';<] i ”q| 10
o




BB — T

18-8-25
59 161

Juy T - ARy 7 U — b TR X

1394 1637

S=1:

30

AMRTEE L=790
11670

793 877
1520

R= 3.000
TH=42. 785

XAy )—+k
18-8-25

/N FE T

/ IOyl
! / $#35em -
/ 3
~ o~
o
<
» /
v T 1 .
Y 3 Y — b L ‘.j'\IVI \él 1 12
18-8-40 |
i 450 HARE
| ! RC-40
1910 I
) 2 060 !
F | EBIT
! : 18-8-25
! |
EEYIVIU—FIHER [ESD)
F3 3 E EERET P # & =
ERYaVO)— b 18-8-40 m3 1/2% (1.52+1.67+1.91+2. 06) x 0. 20 x 3. 40 = 2.43
AT m2 1/2% (1.52+1.91) x 3. 40 = 58
J0y &I (H=2. 30m) & & [EET)
% # ] CERET P # & =
TRy ok #35cm m2 2.693x2.80 = 7.54
TARR RC-40 m3 | 1/2x (0. 217+0. 42) x 2. 33x 2. 80+1/2 % (0. 42+0. 45) x 0. 10 x2. 80
= 1.61
Kl T 18-8-25 m 2.80
HERpT 18-8-25 m 2.80
/NEUET (H=2. 83m) @& 1YY
% # ] CERET PR # & 3
avy)—+r 18-8-40 m3 (0.564+0. 847) /2 x 2.83 x0. 30 = 0.60
QLR m2 | 3.048x0.30 = 0.91
RAEER m2 0.847x0.30 = 0.25
AHimaT Y ) — FIHER 1YY
& T WOEOHOH R O =
avyy—+hk 18-8-25 ‘ m3 1/2x (3.70+3. 60) x 2. 05x 0. 20 = 1.50
avmp | n2 | 1/2% (3.703.60) x2.05 - 7.48
amn | w2 - 0.58

|
|
‘ 0. 16 3. 60
|
|

S=1:30

330

T
< _=©

KK T (10mHY)
I i MO |8 (%R
-+ [18-8-25 m’ 0.21
SN m 1.30

N0.0+0.30 °

7a oy 7R (R R
S=1/

78y 93T (H=2. 30m) L=2. 80m,

EHSHI AT L=0. 30m

L #ZKE& T (H 2. 30mxB 2. 80m)L=4. 00m

F T|=0.30m

NO. 0+3. 40
NO. 0+3.70

NO. 0+7.70

2 500 (SL=2 693)

H=

1930 (SL=2 050)

H=

2 300

230

1730

orh=44. 32

2 470

r NO.0-0.20

| Yyaysy—t
0y B

3 400

L= 7 ) —

AfE Y ) — I L=3.60m

RRCOY T

S=1/50

EfH T 18T L=0. 30m

1

7 2 300
|
I

L #7KB& T (H 2. 30mxB 2. 80m)L=4. 00m

3 700

NO. 0+3. 40
NO. 0+3. 70

NO. 0+7.70

Bt
e
b

3
Wt

FH=40. 32

Bt
T
o

3
ot

FH=40. 34

2 300

3 600

1P

1000
15

100

o
@
N

S=1:20

| S
BHLarsy—=+
18-8-25
0l 420 0f
620

HiET (10mH Y)
I i RO (8 |B &
-+ 18-8-25 m? 0.76
R LB m?® 3.30
L+ 18-8-25 m? 0.62
R L& m? 2.00
AEEE m” 6.2

L4 | H R PR K B3 (T
8ot il R ERT N
R T (3)
[ '/{l (72 v 78T
iR 7 ) — R L)
NEEE IR

FH A

i W




Eew LT () TR

EHEEIQ IER

760 2 800 1420 1 350 2 300 1 350
(=3 o
o o
el o™
N 2 160 2 820 .
760 2 800 1420
5 000
60 600 1 400 1 400 920 500 i g
1 350 2 300 1 350
~ 1150 1150
PSS L=T9D N
\.
X S,
NG .
\ 500 600 2*00 600 500 \}/
o i ‘\ | 7
\ ' | \ AN i /,/
\ | 1 8 N, P
Y ; | 3 :
\ | | ~ =
\ ; | |
| . \
g \ ! | 8 | g
\ | | @ [}
- \ | \ —
\ ! ! \ !
S \ —~ ': .: T o =
N = o \ L | o) N
- \d - E R derirgcly [ h
A e ' e P i
| B (70424 204 !
g 1§22 : | g 4L 2844 g
) | | - -
|
24 - 1R A=1.9m2 A - R A=1.9m2
1 395 1 830 1 840 1 840
3 225 3 680
BEX @RS Y BER 1AL Y
£ L R i3 Bify E O # ® E3 % i | =) i3 By H & H £ # B =
avsy—k 18-8-40 m3 | (172 (1.395+2. 16) x2.20-1. 40 1. 20+1/2x (1. 83+2. 82) x 3. 30 avhy—t 18-8-40 | w3 | [1/2x (3.68+.00) x 2. 20-2. 30 x 1. 20} x0.30 = 2.04
~1.40x2. 30} x0.30 = 2.00
R m2 | {1/2 (1.395+2. 16) x2.20-1.40x 1. 20+1/2x (1. 83+2.82) x 3. 30 QLR m2 | {1/2 (3.68+5.00) x 2. 20-2. 30x 1. 20} x2
~1.40 x2. 30} x 2+ (1. 20+2. 30+3. 45) x 0. 30 = 15.45 +(1.20+2.30) x0.30x 2 = 15.68
HAEER m2 3.225x0. 30 = 0.97 AT m2 3.68x0. 30 = 1.10
A m | 1.90x1.30 = 2.5 i Hl m | 3.40x1.30 = 4.4
8 R m | 1.90x1.00 = 1.9 # R m | 3.40x1.00 = 3.4
L4 HY R R K B i
% BT ol R E BT N
s FAE Lk (4)
[X] 1 44 .
(HE#EHF 1)
Rl 1:30 |[%I|fﬁ.>ﬁ'w’}-| 12
F B A ool i




2 700

FISFFTAKER T (H 1.20mxB 2. 30m) L=4. 00m

TFEX
4000
3 800 200
® o3
&)
=3 JR—
&) ~ig 2
=3
8
- £ S
2 b N
2 : >
° £ =F =] ol o
8 3 rey R &l R
o~ o~ o~
g @ o3
g
2 @ o3
g
3 =3
S - BNEE= 5
180 146250=3 500 180
0 0
C-CHimE
4000
3 800 200
_ _
A B
OLIE ® o3 ®o13
@ o3
% e ® o3
3 o
g an) & s
™ — <
| A —_
5 N7 ® o3
R AN FH=40. 63
3 g
<
3
A B
~
18 146250=3 500 18
0 70
ME® 1S Y
& W T WO B OH R EOE I
avhy—k 18-8-40 n3 |4.00%2.70x1.40-3.80x 2. 30 x 1. 20-0. 20X 2. 20 x 1. 20
~1/4%0.45%0.45%3.14x0.30x3 = 3.96
2 m2 |(3.80x1.20+4. 00 1.40) x 2+2. 70 x 1. 40 x 2- (2. 30+2. 20) x 1. 20
~1/4x0.45x0.45x 3. 14x2 x3+1/4x0.45x0.45%3.14x0.30 x3 = 21.67
fiX:h) D13 Kg 173
HEgavy)—+ 18-8-25 m3 2.90x4.00x0.10 = 1.16
Ao LR m2 (4.00+2. 90) x0.10x2 = 1.38
E- m2 2.90x 4. 00 = 11.60
AT m2 2.90x4. 00 - 16

$=1/30
A-ABRTER B-B¥ER
200 2 300 200 250 2 200 250
13 | 30 180 180
| |
T : |
3 [OLIE l | S [OLIE —[ | -!_
s — | o & ®on ! ' ! o
g ; ® o3 g g i | i11.® o3 &g
© | - ¥ © ®oi3 || | Iy — ¥
e S | (OLIE - o | ! [{| ©os |-
w w ] ]
& ®ni3 t ; g ®ois | | | |
5 : 4 5 5 n ) |
| A I =1 | A v | S
x | o our . 99, 2
| D13 i D13
‘zoo’ 48250=1 000 LGJ 48250=1_000 ‘200‘ ‘200‘ 48250=1_000 LGJ 40250=1 000 ‘200‘
0 T T 0 T T
o 2 700 o o 2 700 o
2 900 2 900
SBHMIE
@ o3 @ o3 ® o3
L=5 020 N=12 L=4 530 N5 L=3 860 N=20
=
5 3 860 .
o
<) L 2 420 2 420
@ o3 ® o ® o3
1=2 380 N=1 L=2 620 N=1 L=2 630 N=3
Q
& &
550 iﬂl) |1_5_o| 1 540 640 220 200 1 560
& S
KRR
EIC K £ & |* #| sexs [1xsvEs| % =
(mm) (kg/m) (kg) (kg)
1 D13 5 020 12 0.995 4.995 60
2 D13 4 530 5 0.995 4.507 23
3 D13 3 860 20 0.995 3. 841 71
4 D13 2 380 1 0.995 2.368 2
5 D13 2 620 1 0.995 2.607 3
6 D13 2 630 3 0.995 2.617 8
Cgeg | R Bk B 2 i 1
D13 $D345 173 kg o pr 1l T E WY N
aE D345 173 ke ] i 4 & Rl k1 (5)
S|

(B 7K 6 T)

RoOEE| 1:30

ELEE

13

F B A ool i




M T H 2.40mxB 2. 15m)

" THEH
.
]
E
gl 3 705
B
i
5| = 3 440 200
!;E 30200=600__ 50200=1 000 48200=800 Izoolz@‘wlspp
ol Ta0 Y40 T 140 70
P D13
o A )
q —— 3 S
\ @ D13 4 _P—N'
® o3 s
o
iy
EP{NO. B+TE. Q0) g
[OLIE 5
—4= 3| B
(=3
S
® o3 -
(=3
® o3 I
3
D3O | —ba 4
] 0ose] s g
l A
5a200=1 000 | || aa200ks00 P°Ploars0=30p
14 HE L)
abes e lzoo
HF
2{930 ﬁE |
BV
=
B-BHIEH
3 705
60 300 3 045 200
bs | adboo-so0 562001 000 46200-300 220 98150-30
220 11 T M
1A T IREE
® 13 D13
"""""""""" -- 9%\ [ —— 1=
o 8 | | i
(=3
2 @ 13 o2
y bkl
S. 8
®os 8 B 8
I -
g @13 8 -
BOX B2000 xH1500 ®ous  g&
AN i
___________________ I . ® o3 g !
8 S 8
K y — =2 S
fERH=42. 58 { =
3 705 Jo
3 805
C-CHiEH
2 865
1285 1000 380 200
5. 5@200=1 000 ' 20150=30D
ITP 141) I
@oizs @o13
SRR _:
° b1z |&
2 =
i
= =] Doz & I
S =3 é § -
=] - =
BOX B2000xH1500 — = SI&
-------------------- S —— g
Ny | Rk . o Q
EH=42. 58 A —————cikY i =t=
2 865 {o
2 965

SEHMIER
A-ABRER -
2 550
D13 @ o3 ® o3
hoo 2 150 200 L=4 970 N=10 L=3 870 N=5 =3 110 N=2
13 _3,(;_
@ o3
g
it @ b3 =4
& . i
= - ® 13 3
= (=3
& D13 B 8
— DTS -
&g A — e
in 7, 2 270 2 270 1210~1 810 (F#91 510) | o
2 D13 k‘!— - L N
3 =
IS = L= sy —p S s
I = @ o3 ® o ® o3
% i - L=1 660 N=1 L=5 100 N=1 L=5 470 N=1
®oi3
si 5@200=1 000 M 50200=1 000 js
0 7
2 550 0 8
- g g g
2 750 il il —
I
(=3
— o o
600 7 L 2 400 | Zah 2 210 |
@ o L-4Df1530 N=12
1=4,835 N=2 - - —
AR g
w5 & E & % #| spEs |1xuvEs| B 2 "= 7 °
(mm) (kg/m) (kg) (kg) ol 2
1 D13 4 970 10 0.995 4,945 49 e .
2
2 D13 3 870 5 0.995 3.851 19 4 .1—
3 D13 3110 2 0.995 3.004 6 = $
4 D13 1 660 1 0.995 1.652 2 f 1
5 | bis 5 100 1 0.9% 5.075 5 RI I 2 720~3 420 (193 070)
7z, S
6 D13 5 470 1 0.995 5.443 5 G 2 400 D
7 D13 4 835 2 0.995 4.811 10
8 D13 4 670 12 0.995 4.647 56
9 D13 3 570 6 0.995 3.552 21
® s D13
10 | 013 3120 2 0.9% 3.104 6 1=3 570 N=6 L=3 120 N=2
" D13 1 590 3 0.995 1.582 5
12 D13 1 050 2 0.995 1.045 2
13 D13 2 410 8 0.995 2.398 19 i‘ 3 570 —i i— 3120
@ o3 @ o3 @ o3
L=1 500 N=3 L=1 050 N=2 L=2 410 N=8
D13 $D345 205 kg
aE 0345 205 v 1150 440 610 440 r 2 410 B
HEE 1A Y
% # EEEEE wo® i o® R W B @ E
avy)y—p 18-8-40 m3 | 1/2x (3.705+2.865) x2.55 x 1. 70-1/2 x (3. 44+2. 665) x 2. 15x1.50-1/2
X (2.73+2.665) x0.50-(1.00x 1. 00+0. 30 x 0. 30+0. 325 x 0. 30) x0.20= 2.81
= D2 m2 | (3.705+2. 55+2. 865) x 1. 70+(3. 44+2. 15+2. 93) x 1. 50
-(2.73+2.665) x0.50-(1.00x 1. 00+0. 30 x 0. 30+0. 325 x 0. 30) x2
0. 325+0. 30 x5+1. 00 x 2+0. 50) x 0. 20 = ‘ . g ML e e
+(0.525:0. 5051, 00x2+0.50) x0.2 | o Do | MR B K B R fi T
537 D13 Ke 205
#igaL s Y—k 18-8-25 m | 1/2x (3. 805+2.965) x2.75x0. 10 = 0.93 B BT @l TERT M
F28 7 ) 2 (3.805+2. 965+2. 75) x0.10x 2 = 1.90 R
v " . | s
x B oM m2 | 1/2 (3.805+2. 965) x2.75 = 9.31 [ 17 44 g
1 = ML
R M2 | 1/2x (3.805+2.965) x2.75 = 9.3
RO 1:30 14
F B A i




: :
I 1.50pxB 2. 15m)
p.ssy R
il
(=]
5 o g3
,\bx\ X
Jr=r00.000 + & T § n B v 0
Q -2
B Lo
S o
& K
& TE
7 & HE
[ : 2 md
"@’k ) —— o X
& RN S \ e o / : o
% : e A e 2A0KD
/ a5 . (R \1524% !
T , S0 &%a%i‘g;@@% 7
Il (38K ESEHER Al 300m2
© [/ N
y / L - s R =90, 00m 5 :
TP 77 : ’ - {REERT a or =604 B
T AL__322; : (%ﬁ&#ﬁ%&ﬁﬁﬁf 29 x 1524 % 3048 1 604K i
25 IR A . FBITAKBIH 12008 2.30mL=4.000 o0 e 2 a4 e L8 5
/ / Y / By 20Mm % 2.30m) L=4¢. 00m g : .
) U a—hROF b
. =4. -6 S s ANt I
g 8om L= 2. 80m =8/ -4 00m . l i -
(2. 30X 9 3omxB = gwB2. e O [ - - e
\_Wﬂ(%l, 3—‘1(\-\ 20 T\ A2 7 : e aw o - | ) e |
LR N / K EINEEE w ‘ [ [ ‘ | ‘ : 1 | ‘\ ) ‘ 28
{=3.10m / \ N — -
SEa : B 2 H afs L
o L =g
Y=750. 000

/

gyt oThz-a 318
‘ ®

g
e
I S P~
— :Hlfif - ey
— H_‘ e
* =
s - s ] N / 4 e A
KBM.1 H =42.158 B ————— — L @31 e 2
— o T >0 A=100mi_(J > 1R, JRE —— 20— — —
zl::f-oa (AL &or2d ] (A o484 | [CA___ o230 | e — —
J RigHhERE  A=300m ES ) s S 7 -
o] . -
RE (BE2>R) REMET 1=91.00m E— S S
L PR P.11___] =
Aoz ]
SHTEEMT AR (No.0~No. 4+10.65) L =90. 65m
FHS 04 T
S4TH A L=260.0m FHL=72 Om No. 4+19 65~EP (1, 13,
- L=169, 35,
—
Y=800. 000 '4 Y=800. 000
MPLGIENE L 5 —ERT
IT=4| HEHKBREHRIS
% | ®WUWHWTEEHBR
HE4| RHIT (Ei#) FER
o R | 1:250 |IZIE§%| 15
-
g vy g - g
b g g EX N 8 W W




R K T RERIE B T (K HER)

S=1/100 S=1/100
A B A W [ E
bl % | 20.0
AR
EE=d £% | 20.0
{RE%ERE 4000
. 3000

|

|

|

REEDS A3 2 BAERR . WAL
: Iz ° I%l/\/
=1 = B =
B IRERERE
22 x 1524 x 3048 A e
EE] T8 [ 2.4
PES 273 2.4
) WEL E3)
A # PES A

EIZmEL] % | 45

fRERERE 4000

K
ls00

2 300

L= 3.500
TH=42. 790

RHEEDS A=1.9nd
= Bk AR B

T 22 x 1524 x 3048
BPHOCRET. (HE7 = 2)
$=1/20
(kA
BUENE (018.6) 3B
DL=35. 00_
BT (618.6)  L=2.0n (@1.8m) - -
ik
B (15.6) 1250 fRE&%ERE 4000
d 4 00 3000 50
S |
|
I |
i N Bk B
\> 22 x 1524 x 3048
1 (648.6) 171 (@1
Lo | R Pk KR S A 1
% AT 1l T BT N

% T Lk
: POHES (BB ACHS T+ (5% s T

R PH VR )
N |M |meﬁ-"v| 16

5 7T 4 oo i




g g . -
g E : g
= X X :

3
Y%
S
N L X —
o
Y=700. 000 + o Y=700. 000
S + n
.f° mr—Trs— S/
N &/ .
So' 4 | iR Yy
|
2 T ‘ \ e
“ % | n
i
K | .
| I L A
&) ,3,8‘ 4
V. % v, b 550 Y
4" / ih 15
Vaf& ,)\\7 cen an
GBI H 1. 50nxB 2. 15m)
[ 3 ]
)
w
o ’
wo

-4y

51) 2—LTIH 1.20mxB 2. 20m L=190. 00m (5 SR IET L=28. 65m)

IRIZIT/KEET (H 1.20mx B 2. 30m) L=4. 00m

4 =497

PAVES

— T (H 1.20mxB 2. 30m

I

RN
4185

4179

o~

(=1

“a1f16

>
SO0, 0+18.00

A = o
\ BTN RERS e - LU LTS
¥=750,000 0Oy, bt ’.‘L._._-n./‘ . Ll
oEmea BI6 e '*V**»-«f“;ii“;;_, S } Casos o - - = I - S 1] jYET30.000
- [P\ e ] o g
] V2 i - e . i
KBM. 1 H =42.158 (A 94849 | e — -
[CA__ o210 | N J
(T &FT) - JRTER M5 ]
] JIEREA (FE) w# S | s
(EEI?&E’A‘UJ))\ i ==
95 Sl
RE (B2 x> R) HEMET L=91.00m ] '
SHMTEEMIT A (No. 0~No. 4+10. 65) L =90. 65m ]
LAITE K L=260.0m ZHEL=72.0m Frt3 o¢f#ﬁﬁ’"
=TT Kig |-
) _16
9. 35m (No. 4+1¢. 65~gp ”
13) )
Y=800. 000 (A Y=800.000
X RITRE L 8 —EER
ITE4| HEHKBERBIS
B Fr| LT TFEEMA
ME4| JRXEEERETAER(1/2)
R | 1:250 [mEwg 17
o
g I g 15008 g
"ore g M 57 4 % W oW

/



¥=700.000 |

:\r50 000

X;

\?00 000

X

1450. 000

X:

Y=700.000

Y=750. 000
e
4 /
/ ] S oy
/ -
— / S=N o
/ = .
— /‘" - . A\ KBIL3 H =43.077
/ P 0tergy7 KR 11 “ Y wa
, 2 %5169, 3 S
AIE 440 L=260 M (MNo. 4410, g5 - n
/ =0 _X#L=75 0.13) ) ’
(P Y=800. 000
MPF—Tc ) -
- S
% 42.39
TP 3
=
e
(L Eriken) IS4 HEHKBERT
(B HKBERIS
B | BT TERHA
HE4| JRXEEERETFER (2/2)
R m| 1:250 [m@sdq 18
ES K ® W ™




